SHELVES AND INSTALLATION INSTRUCTIONS
(DRIVER SIDE SHOWN (PASSENGER IS OPPOSITE):

1. See K9-F23-1 installation instruction for part 1 general
instructions.

2. (See lllusttration #1) Align and Install Item#@center
divider using screw and washer item#@ 3X and
@ 3X , make sure center divider is vertically upright
then install item# 3x self-drill sheet metal screws.

3. (See illustration #2) Install shelvings, Item#@, @@
and using supplied carriage bolt and nuts,

item#@ 19x and @ 19X.

STORAGE SHELVES HARDWARE KIT CONTENTS:

SEE K9-F23-1 INSTALL INSTRUCTION.

c

(DS-SHOWN) ILLUSTRATION # 1
ASSEMBLED FRONT BULKHEAD IS
NOT SHOWN FOR CLARITY

ILLUSTRATION # 2

NOT SHOWN FOR CLARITY

nz ‘

ASSEMBLED FRONT BULKHEAD IS

- 2 0 = o . » JJ
e s \ —
. ° (12-18")
| 3 d_oj 179 (g-15) L : : :
M. = . | . .
e e DRAWING NO.
K9-F23-1-MISC-1-INST

(DRIVER SIDE-SHOWN) ILLUSTRATION # 4
ASSEMBLED FRONT BULKHEAD AND DRAWER IS
NOT SHOWN FOR CLARITY

et DESCRIPTION DARTE | TORTE [ wores: [ BARTE o | arv. | prAWNG #
1 PANEL, K9, STORAGE DIVIDER, NHSP 38339 | 38338 1 [10-013436
2 | PANEL K9, STORAGE, LOWER SHELF, NHSP | 38341 | 38340 1 [10-013437
3 PANEL K9, STORAGE, MID-SHELF 38343 | 38342 1 [10-013438
4 | PANEL K9, STORAGE, TOP SHELF, NHSP 38345 | 38344 1 [10-013439
5 NUT 1/4-20 HEX FLANGE SERRATED ZP 16086 19 |Gsm30170
5 WASHER, 1/4 FLAT, S 16154 3 |GSM31048
7 BOLT 1/4-20 X 3/4 CARRIAGE SS 16235 19 |GSM32024
8 | SCREW 1/4 X 3/4 HH SEMS W/WASHER ZP 16359 3 |GSM33060-1
B SCREW 1/4-20 X 3/4 PPHMS S5 16618 3 |GSM34102

WARNING: ALL HAVIS INC. PRODUCTS ARE DESIGNED WITH SAFETY OF USE AND INSTALLATION IN MIND. HOWEVER,
IT IS THE SOLE RESPONSIBILITY OF THE OWNER/OPERATOR OF A VEHICLE USING HAVIS INC. MOUNTING AND
DOCKING EQUIPMENT, TO INSURE THAT THE EQUIPMENT IS INSTALLED SO THAT IT WILL NOT INTERFERE WITH VEHICLE
OPERATION, INTERFERE WITH SAFETY DEVICES, OBSTRUCT VIEW OF DRIVING CONDITIONS, OR IN ANY WAY
DEGRADE OCCUPANT SAFETY. IMPROPER INSTALLATION CAN CAUSE SERIOUS INJURY IN THE EVENT OF AN
ACCIDENT. INSTALLATION SHOULD ONLY BE PERFORMED BY QUALIFIED PROFESSIONALS. COMPUTERS AND
MOTION DEVICES MUST BE MOVED TO AND STOWED/SECURED IN THEIR SAFE DRIVING POSITIONS BEFORE
OPERATING VEHICLE.

PRODUCT DESCRIPTION

(DS-SHOWN) K9 STORAGE
AND DIVIDER INSTALL
INSTRUCTIONS

HAVIS

1-800-524-9900
WWW.HAVIS.COM

REV. DATE

WEIGHT: (LBS)
N/A

10-24

F-730-019 REV B



